egsS 000 00O0O0DO0O (ucphatomcgv.f)
O00C0O000D000D0 (cg Version)
(September 8, 2005, Draft)

o0 moobdg Mg

U 305-0501 000000 O0OODOOO
gooooobobobobd



Contents

1.

Cobinatrial Geometry (CG)

1.1, Body OO D . .. . e e e e e e e e e e e e e
1.2, O0000000 « .o e e
1.3. D0000DO0O0 . e e e

. o0oooobdn uephantomegv.fU 00

2. CGOOOODO .. e e s e e e

oo0oopooooono

3.0, D0OOD0O0O0:Step 1. oo oo o o e s e e e e s e s e e

3.2, Step Ztpegsb-call . . . . . ...

3.3. Step 3: Pre-hatch-call-initialization . . . . .. ... .. .. 0 0 0oL

34. D0OOODOOO0:Stepd . oo oo o s e e e e e e s s s e s
3401, XUOOODOOOOOOOO: « .o e e e e s e e e e e

3.5, DOOODOOOO:Step b . v v v v o e e e e e e e e e s s s e e
3.6. DOOODOOOO:Step 6 . . v v v o o e e e e e s e e
3.7. DOOODOOO0:Step T o v v v o e e e e e e e e e e e s s s s
3.8. DOOODOOOO: Step 8 o o v v v o e e e e e e e e e s s s s

3.8. 1. OUOOO: oo oo e e e e e e e e e e
3.9 DOOODOOOO:Step 9 . o o oo o e e e e s s s
3.10. Subroutine ausgab . . . . . .. ... e
3.11. subroutine howfar . . . . . . . . . . e

ucphantom.f J ucphantomegv.f00000O0ONO

.gogo

51, D0D0O00O0O00O0O Ce-13700000 « .o oo e e e e
52, UODOOOO0OOO Co-60000O0O0 .+ o oot e e e e
53. DUODODODDOOOODDOO0O0 ... e
54. DODOODDODODDOO « ..o s e e e e e
5.5, DODODDDOODODDO .. e e
5.6. ODOD oo e

.gbooboogo

6.1. ODODOODO .. e e e
6.2. ODODOODO .. e e
6.3. ODODOODO .. e
6.4. ODODOODO .. e e e
6.5. ODODOODO .. e

21

21
21
21
21
22
22
22



1. Cobinatrial Geometry (CG)

1.1. Body O OO
PRESTA-CG*=UUO UDU0ODDO0OO BodyOUDODODOOODOO

1. 000 (RPP)
x,y-0 z00000000000000000000000000000000000

2. O (SPH)
00000000000 VvODOOOoOooooo

3. 00 (RCC)
0000000000000 viooooooooooooo Hoooooooooo
ooo

4. 000 (TRC)
000000000000000 VOOOOOOOOO0O0O0000000000 HOo 0ooO
000000000000 RI OO0 R2000000

5.0000 (TOR)
00000000000 0000000000000 VOOOOOOOO0o000000000
00000 RI0O0D00000O0 R2000000000000000 (n: x/y/z = 1/2/3)0
0000D000D000000000000 410000000 20000000000000
00000000061=0,00 62=2r 0000

Table 1 Data requied to described each bosy type.

Body Type Inp. # Real Data defining Paticular Body
RPP # Xmin Xmax Ymin Ymax Zmin Zmax
SPH +# Vx Vy Vz R
RCC # Vx Vy Vz Hx Hy Hz
R
TRC # Vx Vy Vz Hx Hy Hz
R1 R2
TOR # Vx Vy Vz R1 R2
01 02 n

1.2. 00000000

gobooobO0oUbodyOOOooobooooooobooobobobobobooob4+, —00b
orROODODOO

+ 00000 body DOOOOODOOOOObedyODOOOO0OOOODOOODODOD-
U0obo0 body UDOO0ODOOOOOOObody DODOOOODOOODOODObedyOODO
U4+00 —000O body OO ODOUOOOOOO ANDODDDOOODOOOOOODOOHT 42
O0Obody 100000000 body 20000000000 Obody 10 body 2000000000
000041 —200body 100000000 body 20000000000 DObody 100000
body 2000000000000000O0O00O0OBody UOO0 ORODOUOOODOODDOOOO
orROUOOboooobobOoOoooboooObObObOUObOOoooborRbOOUbODODOUUODOULDODDUODOOD
goobooooboooooobboooo orRbbooobobooooorRbbOObOUOoOROOOD
OorO0O0OO0ODO0ODOOOOODOOODODOODOOOOODOO body ODDDO+0O —0O000O0
gooooogd

*JNC TN1410 2002-001 by T. Torii and T. Sugita[1] 0 Appendix A 00O




1.3. 000000000
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Figure 1: Examples of Combinatorial Geometry Method.
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000000000 0Obedy 200000 0body 30000000000000
00000 K (O2)0000
K = 43

gboboOooobbUdObody 30000000O0O0OOODO
20000 body UDODOOODOOOO0OOO+0-0ORDODODODUODOOODOODOODDOODO
goooooooboobooooboooobbobbobboobobobobbboobbbbbOoo

Figure 2: Use of OR operator.

orROtUoooooooOoooobooboooobobobobooobbOo ADODLODODOODODOODOO B
000000000000 00000B00000 (body 10 3)0000000 (body2)00000O

0D0000000000000
A=+41+2

oo
B=4+3-10R+3-2

gooooborRbOODODOO OROODOOOODLOODODOOOOO bodyDOOODODDOD
gooobobooon



2. 000000000 ucphantomegv.fO 00

ucphatomegv fO0 DCGUOUOOOUOOUOOO0OO00OOOO0O0OO0OO0ODOOODOODOCGO
goobodobooobobo400000000DDOODODO
2.1.ccUoooog

ucphantomegv fOO OO0 DOOOOODOODOODOOO00OO emO0000O00O 20emBDOO0
000000000000000 (Ilemx 1lemx 1lem 0000000000000 OOOOOOOO

Outside Vacuum Region

Water

Alr Phantom Air

AL, ”

\

Dose Calculation
Region

All bodies are written as RPP

Figure 3: Geometry of ucphantomegv.f.

ooooooobobOooPRESTA-CGOOODOUOOOOUOOOOOO

RPP 1 -15.0 15.0 -15.0 15.0 -5.0
0.00

RPP 2 -15.0 15.0 -15.0 15.0 0.0
20.0

RPP 3 -0.5 0.5 -0.5 0.5 0.0
1.00

RPP 4 -0.5 0.5 -0.5 0.5 1.0
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e 00O (RPP)ODDOOD

e 0000000000D0D0D000 020

e 000000000000 OX-, Y-OO 30cm, 00 20em
e 00000000 5emO0000

2.0000

e J00DDOOOODI00kVO XO (DODODDOODOO0OOxraydat000000)00
ggobooboobooooooo

e J0000:00000O0D0O0DBDOOOO (SPOSHOOO
e 000000 DODODODOO XHBEAM*2 x YHBEAM*20O DO 00O

3. 00000
gobz200000b0b00o0bbo0oobooooooooboon

e J000O0O0DOODDOODODOOODODOOOOUDOOODOUDOODODOODBDOOO (imode=0)
egsbjob.pic0 000 ODODOOO

e J00D0I0O0ODDOOODODODOODOODOODODOO (imode=1)
egshjob.outD OO OO0

4. 000000

() CGViewOOOOOOOOOOO (imode=0)
e OO0 (egsbjob.pic)
e 100000 ODDDOODODOOD lem x lemOO0O0O000O0O00O (1emO0O)
e J000DOOOODDDOOOD(DDODOOODO 1lem x lemOOOO0O0OOODO

0000000000000 00O0000b000oO00O00o0O0O0O0O0D) 0000
gobboobooboooboooooooooobooobobo

(b) DO0ODODOD0O0

goooooobooooo

gooooooooooo

gooooooobooooo

o000 XoooooUOoD xreydatOODODOOOO0OOOOODOODO
gooooobboboobooon

00000000 lemx lem 0000000000 (lemO0)
gooobgoo

gooboooboooboooooo

3. jooooobood

3... 00000000: Step 1

egsh UFortran U 00000000 Oegsh0D D OODODOO0DOODOOOOO0O0DOODOOOOO
U0o0oooooo0oboud0oDOoUn parameter 00 U000 Oinclude U0 O OOO00OOODODO
U000000000commonJO000O00O0OODO includedO00D0OODOODO

egshU0 Degsh U 0D OUOO include DO0O00D OO0 Degs0D OO0 UOOMO includeD OO O
U0O0Opegs0 000 OO0 pegscommons U Uegsh U D U0 DO OO0 0OO0OODODOOOLOOODOOOO

0oobooooboobooooubUD awxcommons OO0 OO0 O0ODODDODODODDODODOODODOOO
ooooooooooooot
000 OMortran DO O00O0ODOODODOOOOO0O00O0O0O0OO0OD EGSM40 00000000
U0b0U00boUubooboDbbhUO0U0O0UDD Degsh D000 OOOUN Degs/include/egsbh. £
0000000000 0auxcommons/aux h.f 000 parameter 000000000
D00000Oegs00DOUODODODO includeO O OO

'DO0000000egs5run 000000000000



implicit none

include ’include/egs5_h.f’ ! Main EGS "header" file

include ’include/egs5_bounds.f’
include ’include/egsb5_edge.f’
include ’include/egsb_elecin.f’
include ’include/egsb_media.f’
include ’include/egs5_misc.f’
include ’include/egsb_switches.f’
include ’include/egsb_stack.f’
include ’include/egsb5_thresh.f’
include ’include/egs5_uphiot.f’
include ’include/egsb_useful.f’
include ’include/randomm.f’

include ’include/egs5h.f> OO0 UOOODODOOO0ODDODODO common O OOO include

000000000000 00000000000000o0oo0oot
goobooboobbobooobbobobo0ooobUdd include0 0000

include ’auxcommons/aux_h.f’ ! Auxiliary-code "header'" file

include ’auxcommons/edata.f’
include ’auxcommons/etalyl.f’

include ’auxcommons/instuf.f’
include ’auxcommons/lines.f’
include ’auxcommons/nfac.f’

include ’auxcommons/watch.f’

include ’auxcommons/etaly2.f’ ! Added SJW for energy balance

include ’auxcommons/cg/geom_common.f’ ! geom-common file
integer irinn

000 includeD0 OCGUOOOOOODDOCGUDOOODOOOOODOOOOODOOO
gbboooooboboob0bd common OO0 DOOOODO

common/totals/ ! Variables to score
* depe(20) ,faexp,fexps,imode,ndet,nreg

real*8 depe,faexp,fexps

integer imode,ndet,nreg

U000000implicit noneJ 00000000 DODOODOOOOO0O0ODODODO

gooboooboooog

U0000DbDb000b0000 openUD00egsh U0 Upegsh OO OO DOODOOO

0000000 Opegsh0 D O0OODOOOOO 7260 0closeD00000O0ODO

U0 open0000O0OD0pegs00DOOODODO open 000D DOOODOOOODOODODO
goooo gbooobbobobooooeGgs4bonoooooboono

gs390o0g

O

oo ooo
egs5DD ood

! Units 7-26 are used in pegs and closed. It is better not
! to use as output file. If they are used must be re-open afeter

‘Egs40 cOMINDODDODOODOOOOOO



! getrz etc. Unit for pict must be 39.

open(1,FILE="egs5job.out’,STATUS=unknown’)

open(unit= 2,file=’xray.dat’,status=’0ld’) ! Data of source x-ray
open(UNIT= 4,FILE=’egs5job.inp’,STATUS="0ld’)
open(39,FILE="egsb5job.pic’,STATUS="unknown’)

unit 20 open UD UOXUODODOOO xray.dat 00 00 00D OD0ODOODOO0OOODODODOOO
gobooobobobobobboobobboooooob0Unb cala1dnd

3.2. Step 2:pegsb-call

egsUO00ODODOODOOODOODOOOOOODOOOOOOOOOOOOOOODODOOODOODOOO
UO0Opegsd O OO ODOOODOODOOOOODODOODOOOO0OO0DOO0OpegsbO00O00O0O0O0O0
goboooooobooboooboooooooooooooobboooooboodooood
gobooboboobOoobooboddid chardd000000000O0000O00OO Osubroutune
pegsb U call OO DO
! =SS sS=ss======
call block_set ! Initialize some general variables

nmed=2
medarr(1)="WATER ’
medarr(2)=’AIR-AT-NTP ’

do j=1,nmed
do i=1,24
media(i,j)=medarr(j)(i:i)
end do
end do
chard(1) = 1.040 ! optional, but recommended to invoke
chard(2) = 1.040 ! automatic step-size control

3.3. Step 3: Pre-hatch-call-initialization

OddUOcUOoUibOO0oooobooboobooccoouonooonbb esTalODOOoOon
gccUiobDboubobotdbbegODOODOODOOLDODOO0ODO geomgt U call DO OCG
goboooboobobooboooboobooboobooooeGo bbb bbb bbooo
gboboboobooboooogiaftedb39booooooobboccbobooooboooo
CENDUUU0ODDeg DOUODOODDDODDOOOO nregi0D OO0

! npreci 1: for PICT32



! 2: for CGview
npreci=2

itbody=0

irppin=0

isphin=0

irccin=0

itorin=0

itrcin=0

izonin=0

itverr=0

igmmax=0

ifti = 4 ! Input unit number for c§—data
ifto = 39 ! Output unit number for PICT

write(39,100)

100  FORMAT(’CSTA’)
call geomgt(ifti,ifto)
write(39,110)

110  FORMAT(’CEND?)

nreg=izonin
if (nreg.gt.mxreg) then
write(1,120) nreg,mxreg
120 FORMAT(® NREG(=’,I12,’) must be less than MXREG(=’,I112,’)’ /
* > You must change MXREG in include/egs5_h.f.’)
stop
end if

00000000 Degs
gooo
oogd

oo

gooo googo

good U0 0OcgO
gooooboobobon

go

go

o

estepe20 0 000 googod
gooo

Ranlux D000 OO0 inseed0 00000 O0O00DO0ODOO

! Set medium index for each region
! Vacuum region

med (nreg)=0
! Air region
med(1)=2
med (nreg-1)=2
! Water region

do i=1,nreg-1

iphter(i) = 1 ! Switches for PE-angle sampling
iedgfl(i) = 1 ! K & L-edge fluorescence
iauger(i) = 0 ! K & L-Auger
iraylr(i) = 1 ! Rayleigh scattering
lpolar(i) = 0O ! Linearly-polarized photon scattering
incohr(i) = 0 ! S/Z rejection
iprofr(i) = 0 ! Doppler broadening
impacr(i) = 0 ! Electron impact ionization
med(i)=1 'Water phantom region
end do

estepe=0.10
estepe2=0.20



write(6,130) estepe, estepe2
130 FORMAT(1X,’ESTEPE at EKMAX: ’,F10.5,’ (estepe)’,
* /,1%X,’ESTEPE at ECUT: ’,F10.5,’ (estepe2)’)

Random number seeds. Must be defined before call hatch

or defaults will be used. inseed (1- 2731)

luxlev = 1

inseed=1

write(6,140) inseed

140 FORMAT(/,’ inseed=’,I12,5X,

* > (seed for generating unique sequences of Ranlux)’)

call rluxinit ! Initialize the Ranlux random-number generator

3.4.00000000: Step 4

xray.dat0 00 0000000000000O0
000000000000 0000 (nofebin)00 O
00 (sspec) DODODO

gobooobbooooobobogoobooobbboooooooobobooooooooooon

O (pdf)00 0000000 (edf)00

gooo
0000000 (deltae:MeVO D)OOD OO X

do i=1,1

read(2,*) nofebin(i)

read(2,*) deltae(i)

read(2,*) (sspec(i,ie),ie=1,nofebin(i))
end do

150 write(6,160)
160  FORMAT(’ Key in source type. 1:100kV’)
read(5,*) ixtype
if (ixtype.eq.O.or.ixtype.gt.1) then
write(6,170)
170 FORMAT(’ IXTYPE must be >0 <= 1.°)
o to 150
end if

nsebin=nofebin(ixtype)

tnum=0.D0

do ie=1,nsebin
tnum=tnum+sspec(ixtype,ie)

end do

nsebin=nsebin+1

ecdft(1)=0.0

do ie=2,nsebin
ecdft(ie)=ecdft(ie-1)+sspec(ixtype,ie-1)/tnum

end do

do ie=1,nsebin
ebint(ie)=(ie-1)*deltae(ixtype)
end do



! Define source position from phantom surface.

write(6,180)
180  FORMAT(’ Key in source position from phantom surface in cm’)
read(5,*) sposi

iqin=0 ! Incident charge - photons
ekein=ebint(nsebin) ! Maximum kinetic energy

etot=ekein + abs(iqin)*RM

xin=0.D0

yin=0.DO

zin=-sposi

uin=0.D0

vin=0.D0

win=1.D0O

irin=0 ! Source region number is defined from xin and yin.

goboobooboobooobooXx-00
gboboboooobbboz0o0ooboobooboooon D

gobboooboooobboooboooboboo
gbooooogd

write(6,190)

190  FORMAT(’ Key in half width of beam at phantom surface in cm.’)
read(5,*) xhbeam
write(6,200)

200  FORMAT(’ Key in half height of beam at phantom surface in cm.’)
read(5,*) yhbeam
radma2=xhbeam*xhbeam+yhbeam*yhbeam
wimin=sposi/dsqrt(sposi*sposi+radma2)

write(6,210)

210  FORMAT(’ Key in mode. O:trajectory display, 1:dose calculation’)
read(5,*) imode
write(6,1090)

3.4.1. X
goobgood

1. X0Oooooo

ucphantomegv fO0 0 OXOOODOOODODOOIO0O0ODOO

goooooooobon:
gogboooobooboobooooobo

real*8
* depeh(20) ,depeh2(20) ,dose(20) ,dose2(20) ,doseun(20) ,ebint(201),
* nofebin(1),deltae(1),sspec(1,201),ecdft(201) ,saspec(201)

0 nofebin(1),deltae(l),sspec(i,20) 000100000 XO000O00O0OOODOOOOO
200000000 XO00OUOoOooooooooooooooooo

2. XraydatD 0000000000000 (000 (nofebin)00 000000 OO (deltae:MeV
000D XOO (sspec)) 000000

0)0
3. 0000000000 XO0O0O0ooOuooooooooouooDboD O60kV, 80kV OO 100kV O
0000000 (000000000 0eokV, 80kV, 100kVvOO0O0O00D0O000OO0O0O0)000O

11



do i=1,1

read(2,*) nofebin(i)

read(2,*) deltae(i)

read(2,*) (sspec(i,ie),ie=1,nofebin(i))
end do

150 write(6,160)
160  FORMAT(’ Key in source type. 1:100kV’)
read(5,*) ixtype
if (ixtype.eq.0.or.ixtype.gt.1) then
write(6,170)
170 FORMAT(’ IXTYPE must be >0 <= 1.7)
o to 150
end if
end if

do i=1,3

read(2,*) nofebin(i)

read(2,*) deltae(i)

read(2,*) (sspec(i,ie),ie=1,nofebin(i))
end do

150 write(6,160)
160  FORMAT(’ Key in source type. 1:100kV, 2:80kV, 3:100kV’)

read(5,*) ixtype
if (ixtype.eq.0.or.ixtype.gt.3) then

write(6,170)
170 FORMAT(’> IXTYPE must be >0 <= 3.7)
o to 150
end if
gooooo

.000000000o0o00o (e70-67300)000000

write(1,510) sposi

510 FORMAT (/> Absorbed energy inside phantom for 100 kV X-ray’/
* > Source position ’,F10.1,’ cm from phantom surface’/
* > Within 1cm x 1 cm area after 5 cm air’)
oo
if (ixtype.eq.1l) then
ixen=60
elseif (ixtype.eq.2) then
ixen=80
else
ixen=100
end if
write(1,510) ixen,sposi
510 FORMAT(/’ Absorbed energy inside phantom for ’,I4,’kV X-ray’/
* > Source position ’,F10.1,° cm from phantom surface’/
* > Within lcm x lcm area after 5 cm air’)

12



0000000 ixenU integer OO0 DODODOO
000000 (ncases) 0 0000000000000 DOO0O0O00O0OOncases000000O0
gbobooobobooooobdoooobobboboboooobobooooooooan

342, XOOOODOOOOOODO:  ucphantomegvfO00 O0XOOOOOOOODO10000OO
goboobobooboobooooooooboboooogo

1. X0Oooooo

real*8

depeh (LIMAX,LJIMAX,LKMAX) ,depeh2(LIMAX,LIMAX,LKMAX),
dose(LIMAX,LJMAX,LKMAX) ,doseun(LIMAX,LIJMAX,LKMAX),

ebint (201) ,nofebin(1) ,deltae(1l),sspec(1,201),ecdft(201),
saspec(201)

* ¥ ¥ *

0 nofebin(1),deltae(l),sspec(i,20) 000100000 XO000O00O0OOODOOOOO
200000000 XO00OUOoOooooooooooooooooo

2. xraydat0 0000000000000 (OO0 (nofebin)J0 00000000 (deltae:MeV
00)00000 XOO (sspec)) 000000

oob0 Xboooooooooboboobuoooo gdeokv, 80kV OO 100kVO
(000000000 0e60kV, 80kV, 100kVOOOO0OD0O0OO0OO0O0O0)000O

do i=1,1

read(2,*) nofebin(i)

read(2,*) deltae(i)

read(2,*) (sspec(i,ie),ie=1,nofebin(i))
end do

180 write(6,190)
190 FORMAT(’ Key in source type. 1:100kV’)
read(5,*) ixtype
if (ixtype.eq.0.or.ixtype.gt.1) then
write(6,200)

200 FORMAT(’ IXTYPE must be >0 <= $NXTYPE.’)
go to 180
end if
oo

do i=1,3

read(2,*) nofebin(i)

read(2,*) deltae(i)

read(2,*) (sspec(i,ie),ie=1,nofebin(i))
end do

180 write(6,190)
190  FORMAT(’ Key in source type. 1:100kV, 2:80kV, 3:100kV’)
read(5,*) ixtype
if (ixtype.eq.0.or.ixtype.gt.1) then
write(6,200)
200 FORMAT(’ IXTYPE must be >0 <= $NXTYPE.’)
go to 180
end if

13



gooogd
4. 0000000000000 (573-57600)000000

write(1,390) sposi
390 FORMAT(/’> Absorbed energy inside phantom for 100 kV X-ray’/ ’ So
*urce position ’,F10.1,’ cm from phantom surface’/ ’ Within lcm x 1
*cm area after 5 cm air’)

oo

if (ixtype.eq.1l) then
ixen=60
elseif (ixtype.eq.2) then
ixen=80
else
ixen=100
end if
write(1,390) ixen,sposi
390 FORMAT(/’ Absorbed energy inside phantom for ’,I4,’kV X-ray’/
* > Source position ’,F10.1,° cm from phantom surface’/
* > Within 1cm x lcm area after 5 cm air’)

0000000 ixenU integer OO0 DODODOO

35. 00000000: Step b
UobooooobbbooobDbbbDbD0 emaxe
hatch O OODOO0ODOOO0O0OO0ODOODOO

gobgooooboooboobobobooooboobood

! Define posible maximum total energy of electron before hatch
emaxe = ekein + RM ! photon

write(6,220)
220 format(/’ Start ucphantom’/
* > Call hatch to get cross-section data’)

open(UNIT=KMPI,FILE=’pgs5job.pegsbdat’,STATUS="01d’)
open(UNIT=KMPO,FILE=’egs5job.dummy’ ,STATUS="unknown’)

write(6,230)
230  FORMAT(/,’ HATCH-call comes next’,/)

close(UNIT=KMPI)
close (UNIT=KMPO)

! Print various data associated with each media (not region)

write(1,240)
240 FORMAT(/,’ Quantities associated with each MEDIA:’)
do j=1,nmed
write(1,250) (media(i,j),i=1,24)
250 FORMAT(/,1X,24A1)
write(1,260) rhom(j),rlcm(j)
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260 FORMAT (5X,’ rho=’,G15.7,’ g/cu.cm rlc=’,G15.7,’ cm’)
write(1,270) ae(j),ue(j)

270 FORMAT(5X,’ ae=’,G15.7,’ MeV ue=’,G15.7,° MeV’)
write(1,280) ap(j),up(j)
280 FORMAT(5X,’ ap=’,G15.7,’ MeV up=’,G15.7,’ MeV’,/)
end do

write(1,290)
290  FORMAT(/’ Information of medium and cut-off for each region’)
do i=1,nreg
if (med(i).eq.0) then
write(1,300) i

300 FORMAT(’ Medium(region:’,I5,’)= Vacuum’)
else
write(1,310) i, (media(ii,med(i)),ii=1,24),
* ecut(i),pcut(i),rhor(i)
310 FORMAT (> Medium(region:’,I5,
* *)=2 ,24A1,/5X,’ECUT=",G10.5,’ MeV, PCUT=’,
* G10.5, ’ MeV, density=’,F10.3)
end if
end do
write(39,320)

320 FORMAT(’MSTA’)
write(39,330) nreg
330 FORMAT(I4)
write(39,340) (med(i),i=1,nreg)
340  FORMAT(15I4)
write(39,350)
350  FORMAT(’MEND’)

3.6. 00000O00O0O: Step 6

gobooboboobbbobbooooboboobooooobobooobboooboboboo
gobobobobbob g ooooboobbboboobooobobooooboooo
3.7. 00000000: Step 7

ausgab U0 0D O0OO0ODODO

goobooobobooobooboooooobobbobobbobbboooooobDooDo
goboobooobooboooboon

ncount = O
ilines = 0
nwrite = 10
nlines = 25
idin = -1
totke = 0.
wtsum = O.

call ecnsv1(0,nreg,totke)
call ntally(O,nreg)

do nnn=1,20
depe(nnn)=0.D0
depeh(nnn)=0.D0
depeh2(nnn)=0.D0

end do
faexp=0.D0
faexps=0.D0
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faexp2s=0.D0
fexps=0.D0
fexpss=0.D0
fexps2s=0.D0

do 1=1,201
saspec(1)=0.D0
end do

ibatch=0

write(6,360) nreg-4
360 format(’ Key in number of dose calculation region.(<=’,I5,’)’)
read(5,*) ndet

write(1,370)
370  FORMAT(//,’ Energy/Coordinates/Direction cosines/etc.’,/,
* 6X,’e’,16X,’X’,14X,’y’,14X,’Z’/
* 1X,’u’,14X,’V’,14X,’W’,9X,’iq’,4X,’ir’,3X,’iarg’,/)

380 write(6,390)
390 FORMAT(’ Key in number of cases (O means end of calculation.)’)

read(5,*) ncases
if (ncases.eq.0) go to 570

ibatch=ibatch+1

close(39,status="keep’)
open(39,file=’egsbjob.pic’,access="append’)
write(39,400) ibatch

400 FORMAT(’0’,I5)

38. 00000O000: Step 8

0000000000 (nacses) d O subroutine shower 0 calll Degsh 00O OO0DOO0O
O OucphantomegvfO 0O Ospesi D0 0000000000 OOOODOOCOOOOOOOOOOO
00000 XO0O0O0O0O0OO0OO0D0o0o0000spesiDO000O0O (bem)0000000O0DCOOO
gooboooooobodoooooooobooooooood

0000000000000 O0O000b0 (DoOOO000O0b00b00O0000o0O00bO0o0ooon
00ooo0ooO0)oooooooooooo
gogboooboboooobooooobogoooooboboooboboooobobbobooobooo
ogooo
! _________________________
do j=1,ncases ! Start of CALL SHOWER loop
|
icases=]

410 call randomset(wO)
win=wO#*(1.0-wimin)+wimin
call randomset(phaiO)
phai=pi*(2.0*phai0-1.0)
sinth=dsqrt(1.D0-win*win)
uin=dcos(phai)#*sinth
vin=dsin(phai)*sinth
dis=sposi/win
xpf=dis*uin

16



ypf=dis*vin
if (dabs(xpf).gt.xhbeam.or.dabs(ypf).gt.yhbeam) go to 410
if (sposi.gt.5.0) then

disair=(sposi-5.0)/win

xin=disair*uin

yin=disair*vin

zin=-5.D0
else

xin=0.DO

yin=0.DO

zin=-sposi
end if

if(irin.le.0.or.irin.gt.nreg) then
call srzone(xin,yin,zin,iqin+2,0,irinn)
call rstnxt(iqin+2,0,irinn)

else
irinn=irin

end if

eparte
epartd

0.d0 ! Initialize some energy-balance
0.d0 ! tallying parameters (SJW)

call randomset(eiO)
do ie=2,nsebin
if (ei0.1lt.ecdft(ie)) then
o to 420
end if
end do

420 if (ie.gt.nsebin) then
ie=nsebin
end if
saspec(ie)=saspec(ie)+1.D0
if (ecdft(ie).eq.ecdft(ie-1)) then
ekin=ebint(ie-1)

else
ekin=ebint(ie-1)+(eiO-ecdft(ie-1))*(ebint(ie)-ebint(ie-1))/

* (ecdft(ie)-ecdft(ie-1))
end if
wtin = 1.0
wtsum = wtsum + wtin ! Keep running sum of weights
etot = ekin + iabs(iqin)*RM ! Incident total energy (MeV)
availke = etot + iqin*RM ! Available K.E. (MeV) in system
totke = totke + availke ! Keep running sum of KE
latchi=0

if (ncount .le. nwrite .and. ilines .le. nlines) then
ilines = ilines + 1
write(6,430) etot,xin,yin,zin,uin,vin,win,iqin,irinn,idin
430 FORMAT (4G15.7/3G15.7,315)
end if

! Added for energy balance tests (SJW)
if (DABS(eparte + epartd - ekin)/ekin .gt. 1.d-10) then
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write(*,440) icases, eparte, epartd

440 FORMAT(’Error on # ’,I16,’ Escape = ’,F9.5,’ Deposit = ’,F9.5)

endif

do kdet=1,ndet
depeh(kdet)=depeh(kdet)+depe(kdet)
depeh2(kdet)=depeh2(kdet)+depe(kdet) *depe(kdet)
depe(kdet)=0.0

end do

faexps=faexps+faexp
faexp2s=faexp2s+faexp*faexp
faexp=0.0
fexpss=fexpss+fexps
fexps2s=fexps2s+fexps*fexps
fexps=0.0

ncount = ncount + 1 ! Count total number of actual cases

end do ! End of CALL SHOWER loop
|
3.81. 0DO0O0O0O: 00000000O000O00O0DOOODODOOODOOOOODOO
gobooogbooobbboobOobobO0ob00DOducphantomegv.f0 0 0000 OO MCNP
gboooobobobboo
e JOUIUDDOO NDOODO

e z; 1 i00DO0ODODODODOODOOOOO
e xJUIUODOOOODOO:

[ ]
&
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O

e zUUUODDODO

st =—s" ~—[2?2-7
N
oood
e JODOOOODOO .
— 1 a? 1/2
R:Sf/x:[ﬁ(f_z_l)] /

goooo

ggbboobobobooobooboooboobobobbobooobooobo
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39. 00000O00O0: Step 9

gobooboboooobooobooobbobobobobOoubb xray.datdb
000000 XO0o000o0oo0o0000 X00ooooooooooooooo (oooooooo
0)oooo0ooo0oooOoO0obo0oO0ooO0oOoO0O0bOOO0O0oOoOObODOOO000O0OOO0O0O

gobooooooobon

do ie=2,nsebin
saspec(ie)=saspec(ie)/float(ncases)
end do

if (imode.ne.0) then

write(1,480)
480 FORMAT(/’> Comparison between sampled spectrum and original data’
*  /23X,° Sampled Probability’,25X,’ Sampled Probability’
* )

do ie=2,nsebin,?2
if(ie.eq.nsebin) then
write(1,490) ebint(ie),saspec(ie),ecdft(ie)-ecdft(ie-1)

490 FORMAT(1X,G9.3,° MeV(upper)—— ’,2G12.5)
else
write(1,500) ebint(ie),saspec(ie),ecdft(ie)-ecdft(ie-1),
* ebint(ie+1), saspec(ie+1),ecdft(ie+l)-ecdft(ie)
500 FORMAT(1X,G9.3,° MeV(upper)—— ’,2G12.5,3X, ’; ’,G9.3,
* > MeV(upper)-- ’,2G12.5)
end if
end do

write(1,510) sposi

510 FORMAT(/’> Absorbed energy inside phantom for 100 kV X-ray’/
* > Source position ’,F10.1,° cm from phantom surface’/
* > Within lcm x 1 cm area after 5 cm air’)

write(1,520) ncases, xhbeam, yhbeam

520 FORMAT(1X,I8,’ photons normally incident from front side’/ ’ Hal
*f width of beam is ’,G15.5,’cm for X and ’,G15.5,’cm for Y’)
end if

area=1.D0*1.DO

do kdet=1,ndet
vol=area*1.D0O
dose(kdet)=depeh(kdet) /ncases

dose2(kdet)=depeh2(kdet) /ncases
doseun(kdet)=dsqrt((dose2(kdet)-dose(kdet)*dose(kdet))/ncases)

dose(kdet)=dose(kdet)*1.602E-10/vol

doseun(kdet)=doseun(kdet)*1.602E-10/vol

depths=kdet-1.0

depthl=kdet

write(6,530)depths,depthl, (media(ii,med(kdet+1)),ii=1,24),
* rhor(kdet+1) ,dose(kdet) ,doseun(kdet)

530 FORMAT(’> At ’,F4.1,’--’,F4.1,’cm (’,24A1,’ ,rtho:’,F8.4,7)=",

* G13.5,’+—’,G13.5,’Gy/incident’)

write(1,530) depths,depthl, (media(ii,med(kdet+1)),ii=1,24),
* rhor(kdet+1) ,dose(kdet) ,doseun(kdet)
end do

goboooooobobooooooo
gobooboobon
ggogoobbboobobobobboooooboobobooboobobbbobooboooo
goboobogoobooobooeoooboon

goboooboobobobobooboboboboobo
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3.10. Subroutine ausgab

ausgabl OO 0O O0OOOODOOOOODOOOOOOODODOODOOOOOOODOODODODO
O00Oinclude D00 0OO0OOOOOOOOOODODOO

iwatchO0O OO0 OO0OO0OOODODOODOOOODOODODOOOODOODOOOOOOOD
goooood

wrg < 500000000000 nreg0000O0ODODOODODOOODODODOODODOODODO
U000000000000000 200 nreg-3000000ir1i00000o0ooooooboOon
OO0 Oidet=irl-1; 000000000 0O0OOOOODOOOOO

gobooobobobooooobooboboboooboboboboobbOobboboboooooobob
goooooooooooobbooobboobbbbobbbbooobobbbbooboboboooo
000000zZ-00000000000000000((@CO0DO0OO0O000DO0O0DO00O00O00)
gooboooooboboboooobobooobboooobooobubDDbOU00bumpy 0O
gbobOO0000D1atch(np) 0 10000000000 ODOOOOODO0OOO0OO0O0ODODOO

obooooobobbbobbdbo0bOl subroutine plotxyzUO OO O

if (np.gt.MXSTACK) then
write(6,100) np,MXSTACK

100 FORMAT(//’ In AUSGAB, np=’,I3,’ >= maximum stack’,
* > allowed which is’,I3/1X,79(’*’)//)
stop
end if

if (iarg .1t. 5) then
esum(iql+2,irl,iarg+1) = esum(iql+2,irl,iarg+1l) + edepwt

! added SJW for particle by particle energy balance
if(irl.eq.nreg) then
eparte = eparte + edepwt
else
epartd = epartd + edepwt
endif
end if

if (irl.ge.2.and.irl.le.nreg-3) then
idet=irl-1
if(idet.ge.1.and.idet.le.ndet) then
depe(idet)=depe(idet)+edepwt/rhor(irl)
end if
end if

if (abs(irl-irold).eq.l.and.iq(np).eq.0) then
if((w(np).gt.0.0.and.irl.eq.2) .or.(w(np).le.0.0.and.irl.eq.1))
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* then
if (dabs(w(np)).ge.0.0349) then
cmod=dabs (w(np))
else
cmod=0.0175
end if
esing=e(np)
dcon=encoea(esing) ! PHOTX data
fexps=fexps+e(np)*dcon*wt (np) /cmod
if (w(np).1t.0.0) latch(up)=1
if (w(np).gt.0.0.and.latch(np).eq.0) then
faexp=faexp+e(np)*dcon*wt (np)/cmod
end if
end if
end if

if (imode.eq.0) then
call plotxyz(iarg,np,iq(np),x(np),y(np),z(np),e(np),ir(np),
* w(np))
end if
return

end

3.11. subroutine howfar

howfar 0 00000000000 O0DOOOCODOOODOCOOOCOOOOOOODODOOODOLOO
coooopoOooooOoOo0OoOOOoO0DbOOO0O0O00UoOOoOoDOoDUObDOODODOOOo
ooooooOooOooooo

O0OD0DDOhowfar 000000000000 O0DOO0DOOCODODO@disc=1) 000D0OOOODO
coooooooooooo0oooOooooobOooOoboboOoOoooDo

cGOhoOoDoODbOoOoDODObOO0Ob OO0 uephantomegv.fU cgO OO0 O howfarO OO DO OO

4. ucphantom.f 0 ucphantomegv.f 00000000

000000000000D0000eceD0OD0ODD0O0000D000000000000N0 howfar
0000000000000 00000000000000000000000000000000O
00000000 ucphantom.fO0 uephantomegvf O 00000000 OOO OO Jucphantom.fO

00 140000000000000000°%

5. 00o0n

5.1. 000000000 Cs-13700000
O0000Cs-1370000000000 (0.662MeV)0 0000

52. 000000000 Co-600 0000
OO0 Co-6000001.173MeVO 1.333MeVO 0D UOO0DOOO0O0OOOOO

53. 000000000000DOODO0O

0000 3em0000000003-13emO000 00 0.3g/ecm®) 00000000 3em 0000
gobooobbobobobobbooo Xooooo

fccooDOoDO0D00D00000D00DO0O000DD0000D00D000000000DnonO00no0000ooon

21



54. 0000000000

oo
oobobonD 3embO0O00
Y-Oooooooooboobo

2c

m goooboobobobogoX-
oo

oog goboboogoobbo
ooo oooob Xooooo

5. 00 00OOO0ODODOOO
oobooob shem-6emD0O0000000O0DO0ODOOO0OO0 XOOOOO

5.6. 000
gobooboobooooooboobobobooobo

e 00O LUODDOOOLDOOD XODDOOODDO
e JOUDUDLDOUOLODDLODLDLDOOODDO

e 0D DOUOUDUD lembOOO0ODDOOODO
goboooooboo
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6. Uoboooono

000000 Oucphantomegv.£f0 0000000000000 10000,0000
(egsBjob.out) D 0000000 OODO (D00 Ophantom.out) 000000000
gbboobooobooooboooboboooobbooboboobboooo

6.1. 00O0O0ODO
1. cp ucphantomcgv.f ucphantomcgvi.f

2. ucphantomcgvl.£f0 00O
e 23820200 0000OOOOOOODO

160  FORMAT(’ Key in source type. 0:Cs,1:100kV’)
read(5,*) ixtype
if (ixtype.lt.0.or.ixtype.gt.1) then
write(6,170)
170 FORMAT(’ IXTYPE must be >= 0 <= 1.7)

e 39000 00O0OLODODODODO

if (ixtype.eq.1) then

ekein=ebint(nsebin) ! Maximum kinetic energy
else

ekein=0.662
end if

e 555-57100U0DO0OO0O0OOOODOO

if(ixtype.eq.1) then
call randomset(eiO)
do ie=2,nsebin
if (e10.1lt.ecdft(ie)) then
go to 420
end if
end do

420 if (ie.gt.nsebin) then
ie=nsebin
end if
saspec(ie)=saspec(ie)+1.D0
if (ecdft(ie).eq.ecdft(ie-1)) then
ekin=ebint(ie-1)
else
ekin=ebint(ie-1)+(eil-ecdft(ie-1))*(ebint(ie)-ebint(ie-1))/
* (ecdft(ie)-ecdft(ie-1))
end if
else
ekin = ekein
end if

e 659000 if(imode.ne.0.and.ixtype.eq.1) thenJ OO DO OO
e 6310 000DLODDOOOOODOO

write(1,510) sposi

510 FORMAT (/> Absorbed energy inside phantom for Cs gamma-ray’/
* > Source position ’,F10.1,’ cm from phantom surface’/
* > Within 1cm x 1 cm area after 5 cm air’)

3. cp ucphantomcgv.data ucphantomcgvl.data

4. cp ucphantomcgv.inp ucphantomcgvl.inp

5. ucphantomcgvl.inp 700 19000000000000O
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&INP AE=0.521,AP=0.010,UE=2.511,UP=2.0 /END

6. ucphantomegvl.f O egshrun D 0 OO O O
gobo0o4000000000DO0OO0 20000000 0O0ODOODDOOODOOOOODO

r.0oobooooboiobooooooon
. 00ooobbobbooo 2000000
9. Jb00bo0o0gdlooooboOon

10. DO00D00OO0OOOegshjobout DO D0 OO0 OOOOOOO 0.662MeVO D OOODODOOOODO
goobobbobo Xobooooobobobbooo

11. egshjobO OO OO0 DOODODOOOOO0OODOOOOOODOCGViewDDDOOODODODOO

6.2. 00000
1. cp ucphantomcgvl.f ucphantomcgv2.f

2. ucphantomcgv2. £ 000000000000
e 2380 000ODODOOOOODOO

160  FORMAT(’ Key in source type. 0:C0-60,1:100kV’)

e 573000000 OOODOOO

call randomset(rnnow)
if(rnnow.le.0.5) then

ekin=1.173 ! lower energy photon
else

ekin=1.333 ! higher energy photon
end if

3. cp ucphantomcgvl.data ucphantomcgv2.data

4. cp ucphantomcgvl.inp ucphantomcgv2.inp

ot

ucphantomegv2.f O egshrun 0 00O OO0
gobo0o4000000000DO0OO0 20000000 0O0ODOODDOOODOOOOODO

6. Jo0ooOooob01obooooooon

r.0000oobbobobooo 2000000

. 0b0oobooogdloooooboon

9. 00000000 Oegshjobout 0D DODOOOOOO0O 11730 1.333000000000
goooooobobobobooobb Xoooooboooobooooobo

6.3. 00000
1. cp ucphantomcgv.f ucphantomcgv3.f
2. ucphantomcgv3.f 0 00O
e 246000 0000OOOOODO
if((i.ge.5.and.i.1e.14).0or.i.eq.19) then ! Lung region
rhor(i)=0.3
end if

e 47600

write(6,360) nreg-4
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write(6,360) nreg-6

gooogg

3. cp ucphantomcgv.data ucphantomcgv3.data

4. ucphantomcgv3.data0 000D 0OO00OODOODO

RPP 1 -15.0 15.0 -15.0 15.
0.00
RPP 2 -15.0 15.0 -15.0 15.
16.0
RPP 3 -0.5 0.5 -0.5
1.00
RPP 4 -0.5 0.5 -0.5
2.00
RPP 5 -0.5 0.5 -0.5
3.00
RPP 6 -0.5 0.5 -0.5
4.00
RPP 7 -0.5 0.5 -0.5
5.00
RPP 8 -0.5 0.5 -0.5
6.00
RPP 9 -0.5 0.5 -0.5
7.00
RPP 10 -0.5 0.5 -0.5
8.00
RPP 11 -0.5 0.5 -0.5
9.00
RPP 12 -0.5 0.5 -0.5
10.00
RPP 13 -0.5 0.5 -0.5
11.00
RPP 14 -0.5 0.5 -0.5
12.00
RPP 15 -0.5 0.5 -0.5
13.00
RPP 16 -0.5 0.5 -0.5
14.00
RPP 17 -0.5 0.5 -0.5
15.00
RPP 18 -0.5 0.5 -0.5
16.00
RPP 19 -15.0 15.0 -15.0 15.
3.00
RPP 20 -15.0 15.0 -15.0 15.
13.00
RPP 21 -15.0 15.0 -15.0 15.
16.00
RPP 22 -15.0 15.0 -15.0 15.
21.00
RPP 23 -0.5 0.5 -0.5
16.00
RPP 24 -20.0 20.0 -20.0 20.
36.0
END
zZ1 +1
z22 +3
Z3 +4
z4 +5
Z5 +6
26 +7
Z7 +8
Z8 +9
Z9 +10
210 +11
Z11 +12
212 +13
213 +14
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Z14 +15

215 +16

216 +17

Z17 +18

7218 +19 -23

219 +20 -23

220 +21 -23

z221 +22

222 +25 -1 -2 -22
END

5. cp ucphantomcgv.inp ucphantomcgv3.inp

6. ucphantomegv3.f O egshrun 0 0 OO O O
gobo0o4000000000DO0OO0 20000000 0O0ODOODDOOODOOOOODO

r.0ooboooo1iobooooooon
. 0Oo0oobbOoobooo1s0boood
9. Jbo0obo0o0ogtloooobOon

10. OO0 DO0OUOO0O Qegshjob.outd OO OO

gooobboooboooboboooobboo
gboogooobobobbobotbooooobooobobobooon

6.4. 00000
1. cp ucphantomcgv3.f ucphantomcgv4.f

2. ucphantomcgv4.£ 000
e 2470 000DOOODOOODOO

if((i.ge.5.and.i.1e.7) .or.(i.ge.10.and.i.1e.14.) .or.i.eq.19.
* or.i.eq.21) then ! Lung region

e 47700 write(6,360) nreg-800 00000

3. cp ucphantomcgv.data ucphantomcgv4.data

4. ucphantomcgv4.data0 0000 0O0O0OODOODO

RPP 1 -15.0 15.0 -15.0 15.0 -5.0
0.00

RPP 2 -15.0 15.0 -15.0 15.0 0.0
16.0

RPP 3 -0.5 0.5 -0.5 0.5 0.0
1.00

RPP 4 -0.5 0.5 -0.5 0.5 1.0
2.00

RPP 5 -0.5 0.5 -0.5 0.5 2.0
3.00

RPP 6 -0.5 0.5 -0.5 0.5 3.0
4.00

RPP 7 -0.5 0.5 -0.5 0.5 4.0
5.00

RPP 8 -0.5 0.5 -0.5 0.5 5.0
6.00

RPP 9 -0.5 0.5 -0.5 0.5 6.0
7.00

RPP 10 -0.5 0.5 -0.5 0.5 7.0
8.00

RPP 11 -0.5 0.5 -0.5 0.5 8.0
9.00

RPP 12 -0.5 0.5 -0.5 0.5 9.0
10.00
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10.

RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP

END
z1
zZ2
Z3
z4
Z5
26
Z7
Z8
Z9
210
Z11
212
Z13
z14
215
216
Z17
218
Z19
220
z221
222
7223
224
END

13
14
15
16
17
18
19
20
21
22
23
24
25
26

+1
+3
+4
+5
+6
+7
+8
+9
+10
+11
+12
+13
+14
+15
+16
+17
+18
+19
+20
+21
+22
+23
+24
+26

-15.0 15.
-15.0 15.
-15.0 15.
-15.0 15.
-15.0 15.
-15.0 15.

-20.0 20.

—
w
(@]
(@]

o O O O O o

o o0 O O O O o o oo oo oo

. ucphantomegv4.f O egshrun 0 0 0 00O O
gobo0o4000000000DO0OO0 20000000 0O0ODOODDOOODOOOOODO

gboboobbolioboooboobobo
.oooogbbooboooi1s0boogn
.gboobobooogooecooobon

OUO0DO0O00O00 Qegshjob.out OO OO
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-0.5

-0.5

-0.5

-0.5

-0.5

-15.0 15.
-15.0 15.
-15.0 15.
-15.0 15.
-15.0 15.
-15.0 15.
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6.5. 00000

1. cp ucphantomcgv.f ucphantomcgv5.f

2. ucphantomcgvs. £ 0000000 0OOODOO

e 13200 character*24 medarr(3)0 00000
e 163-16500000O0O0O0O0DOODOO

nmed=3

medarr(1)="WATER ’
medarr(2)=’AIR-AT-NTP ’
medarr(3)="FE ’

e 24700 0DOOLODODODOODO

if(i.eq.7.0r.i.eq.23) then ! Iron region
med(i) = 3
else
med(i)=1 'Water phantom region
end if

e 478 00 write(6,360) nreg-6 000 0OODO

3. cp ucphantomcgv.data ucphantomcgv5b.f

4. ucphantomcgvb.data0 00000 OOO

RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21

-15.0 15.0 -15.0
0.00
-15.0 15.0 -15.0
20.0

-0.5 0.5 -0.5
1.00

-0.5 0.5 -0.5
2.00

-0.5 0.5 -0.5
3.00

-0.5 0.5 -0.5
4.00

-0.5 0.5 -0.5
5.00

-0.5 0.5 -0.5
6.00

-0.5 0.5 -0.5
7.00

-0.5 0.5 -0.5
8.00

-0.5 0.5 -0.5
9.00

-0.5 0.5 -0.5
10.00

-0.5 0.5 -0.5
11.00

-0.5 0.5 -0.5
12.00

-0.5 0.5 -0.5
13.00

-0.5 0.5 -0.5
14.00

-0.5 0.5 -0.5
15.00

-0.5 0.5 -0.5
16.00

-0.5 0.5 -0.5
17.00

-0.5 0.5 -0.5
18.00

-0.5 0.5 -0.5
19.00
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RPP 22 -0.5 0.5 -0.5 0.5 19.0
20.00
RPP 23 -0.5 0.5 -0.5 0.5 0.0
20.00
RPP 24 -15.0 15.0 -15.0 15.0 0.0
5.00
RPP 25 -15.0 15.0 -15.0 15.0 5.0
6.00
RPP 26 -15.0 15.0 -15.0 15.0 6.0
20.00
RPP 27 -15.0 15.0 -15.0 15.0 20.0
25.00
RPP 28 -20.0 20.0 -20.0 20.0 -20.0
40.00
END
zZ1 +1
z22 +3
Z3 +4
z4 +5
Z5 +6
26 +7
Z7 +8
Z8 +9
Z9 +10
210 +11
Z11 +12
212 +13
Z13 +14
z14 +15
215 +16
216 +17
Z17 +18
218 +19
Z19 +20
220 +21
221 +22
222 +24 -23
223 +25 -23
224 +26 -23
7225 +27
7226 +28 -1 -2 =27
END
2 1 1 1 1 1 3 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 3 1
2 0

5. ucphantomcgvb.inpU OO O0OOOODOODO

ELEM

&INP EFRACH=0.05,EFRACL=0.20,IRAYL=1,IBOUND=0,INCOH=0,
ICPROF=0,IMPACT=0 /END

FE FE

FE

ENER

&INP AE=0.521,AP=0.010,UE=0.711,UP=0.3 /END

PWLF

&INP /END

DECK

&INP /END

6. ucphantomegvh.f O egshrun O 0 OO O O
gobo0o 4000000000000 20000000 DOOOODDOOOOOOOOOO

r.0ooboooo1iobooooooon
. 0Oo0oobbOoobooo1s0boood
9. Jbo0obo0o0ogtloooobOon
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10. ODODOO O Oegshjobout 0D DOOOODOODODOODOOOOOODOOODOOODO

goog gboboooobboooobboobooboobo

11. egshjobO 0 OO OO DOOOOOOOOOOODODOODOOOOOOO
goooooo

ooo
oo

O OO

ooboobooboo
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Appendix 1 Full listings of ucphantomcgv.f

1 s sk sk ok sk ok o ok ok sk ok sk ok s ko ok sk sk sksk sk sk sk ok s ok sk skok sk sk ok stk sk ke sk skok sk sk ki sk ok sk sk ok ok ok skok sk sk ok ok ok kokok ok ok ok ok ok
Daoskoskokokkokokdkokkkokkokokokokkok ok ok okkokkok - KEK, High Energy Accelerator Research *

ok ok sk sk ko o o ok ok ok sk ook o ok sk ok o ok sk ko ok ook ok Organlzatlon *
'** u cphantomcg v ** *
ok ks sk ko o o ok ok sk sk ook o ok sk ok o ok sk ko ok ok ok ok EGS5.0 USER CODE - 18 Jul 2005/1300 *

1ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok sk ok ok ok ok ok ok ok ok ok ok ok ok ok ok sk ok ok ok sk ok ok ok ok ok ok ok ok ok ok ok ok ok ok okok ok o ok ok ok ok ok ko
1ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok sk ok ok ok ok ok ok ok ok ok ok ok ok ok ok sk ok ok ok sk ok ok ok ok ok ok ok ok ok ok ok ok ok ok okok ok o ok ok ok ok ok ko

! *
! PROGRAMMERS: H. Hirayama *
! Radiation Science Center *
! Applied Science Laboratory *
! KEK, High Energy Accelerator Research Organization *
! i-1, Oho, Tsukuba, Ibaraki, 305-0801 *
! Japan *
! *
! E-mail: hideo.hirayama@kek. jp *
! Telephone: +81-29-864-5489 *
! Fax: +81-29-864-1993 *
! *

Dotk koo ook ok ok kokok sk ok stk s o o sk ok ok ok ok sk sk sk skl sk sk skl s sk s ok ok ok ok ki sk sk sk stk sk ok ok ok ok ok
Dokt sk ook ok kokokokokokokokokok ok ok okok sk ok kol s s s sk ke ok ok ok sk ok sk skl sk sk skl s sk s sk ok ok ok ki sk sk sk stk sk ok ok ok o o ok
! The ucphantomcgv.f User Code requires a cg-input file only
(e.g., ucphantomcgv.data).
The following shows the geometry for ucphantomcgv.data.
% data can be checked by CGview.
This user code corresponds to ucphantomcgp.mor for egs4.
Use Ranlux random number generator.
1 stk ok ok ok ok ok ok ok ok ok o e e ook ok ok ko o sk ook ok ok sk s sk ok ok ok ok ok ks s ok o o o o

*

X
|
om——mm——d————t———— et ———t————+——— 20.0
|
| Outer vacuum region |
+ et e I S +-—— 15.0
| | | | |
I T T Water (H20) I I
+ + s et + +-— 0.5
| | | | | | | | |
| |Air |H20|H20] |H20|Air | I
| X-ray | | | | | | | | |
==========b4———f———f— == ————m—— 4> 7
photons -20 -5.0 0 1.0 2.0 19.0 20.0 40.0
25.0

EE N R O R R

i
1 sk sk ok sk ok sk ok sk ok sk ok sk ok sk ook o o sk o sk ok sk ok o ok ok sk ok sk ok ok ok sk sk ok ok ook sk sk ok o ko ok ok ok ok ok ok ok ok
123456789 123456789 123456789 123456789 | 123456789| 123456789 (12345678912

include ’include/egs5_h.f’ ! Main EGS "header'" file

include ’include/egs5_bounds.f’
include ’include/egsb5_edge.f’
include ’include/egs5_elecin.f’
include ’include/egs5_media.f’
include ’include/egs5_misc.f’
include ’include/egs5_stack.f’
include ’include/egs5_thresh.f’
include ’include/egs5_uphiot.f’
include ’include/egs5_useful.f’
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include ’include/egs5_usersc.f’
include ’include/egs5_userxt.f’
include ’include/randomm.f’

include ’auxcommons/aux_h.f’ ! Auxiliary-code '"header'" file

include ’auxcommons/edata.f’
include ’auxcommons/etalyl.f’
include ’auxcommons/instuf.f’
include ’auxcommons/lines.f’
include ’auxcommons/nfac.f’

include ’auxcommons/watch.f’

include ’auxcommons/etaly2.f’ ! Added SJW for energy balance

include ’auxcommons/geom_common.f’ ! geom-common file
integer irinn

common/totals/ ! Variables to score
* depe(20),faexp,fexps,imode,ndet

real*8 depe,faexp,fexps

integer imode,ndet

Pkkkx real*8 ! Arguments
real*8 etot,totke
integer ins

Ik*x* real*8 ! Local variables
real*8
* area,availke,depthl,depths,dis,disair,ei0,ekin,elow,eup,
* phaiO,phai,radma2,sinth,sposi,tnum,vol,w0,wimin,wtin,wtsum,
* xhbeam,xpf,yhbeam, ypf

real*8 bsfa,bsferr,faexps,faexp2s,faexrr,fexpss,fexps2s,fexerr,
* faexpa,fexpsa

real*8
* depeh(20),depeh2(20),dose(20),dose2(20),doseun(20),ebint(201),
* nofebin(1),deltae(1),sspec(1,201),ecdft(201),saspec(201)

real
* tarray(2),tt,tt0,ttl,cputime

integer
* i,ii,ibatch,icases,idin,ie,ifti,ifto,imed,ireg,isam,
* ixtype,j,k,kdet,nlist,nnn,nsebin

character*24 medarr(2)

! Units 7-26 are used in pegs and closed. It is better not
! to use as output file. If they are used must be re-open after
! call pegs5. Unit for pict must be 39.

open(unit= 1,file=’egsbjob.out’,status=’unknown’)

open(unit= 2,file=’xray.dat’,status=’o0ld’) ! Data of source x-ray
open(UNIT= 4,FILE="egsbjob.inp’,STATUS=01d’)
open(unit=39,FILE=egs5job.pic’,STATUS=unknown’)

call counters_out(0)
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120

define media before calling PEGS5

nmed=2
medarr(1)="WATER

medarr(2)=’AIR-AT-NTP ’

do j=1,nmed
do i=1,24

media(i,j)=medarr(j)(i:1i)

end do
end do

chard(1)
chard(2)

1.0d40
1.0d40

! optional, but recommended to invoke
! automatic step-size control

npreci 1: for PICT32
2: for CGview

npreci=2

itbody=0
irppin=0
isphin=0
irccin=0
itorin=0
itrcin=0
izonin=0
itverr=0
igmmax=0

ifti = 4 ! Input unit number for cg—data
I

ifto = 39 ! Output unit number for

write(39,100)
FORMAT(’CSTA’)

CT

call geomgt(ifti,ifto)

write(39,110)
FORMAT(’CEND’)

nreg=izonin

if (nreg.gt.mxreg) then
write(1,120) nreg,mxreg

FORMAT(’ NREG(=’,I12,’) must be less than MXREG(=’,I12,

* ’ You must change MXREG in include/egs5_h.f.’)

stop
end if

Set medium index for each region

Vacuum region
med (nreg)=0

Air region
med(1)=2

med (nreg-1)=2
Water region

do 1=2,nreg-2
iphter(i)
iedgfl(i)

! Switches for PE-angle sampling
! K & L-edge fluorescence

)/
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130

140

170

iauger(i) = 0 ! K & L-Auger
iraylr(i) =1 ! Rayleigh scattering
lpolar(i) = 0 ! Linearly-polarized photon scattering
incohr(i) = 0 ! S/Z rejection
iprofr(i) = 0 ! Doppler broadening
impacr(i) = 0 ! Electron impact ionization
med (i)=1 |Water phantom region
end do

estepe=0.10

estepe2=0.20

write(6,130) estepe, estepe2

FORMAT(1X, ’ESTEPE at EKMAX: ’,F10.5,’ (estepe)’,
/,1X, ESTEPE at ECUT: ’,F10.5,’ (estepe2)’)

Random number seeds. Must be defined before call hatch
or defaults will be used. inseed (1- 2731)
luxlev = 1
inseed=1
write(6,140) inseed
FORMAT(/,’ inseed=’,I12,5X,
> (seed for generating unique sequences of Ranlux)’)

call rluxinit ! Initialize the Ranlux random-number generator

do i=1,1

read(2,*) nofebin(i)

read(2,*) deltae(i)

read(2,*) (sspec(i,ie),ie=1,nofebin(i))
end do

write(68,160)
FORMAT(’ Key in source type. 1:100kV’)
read(5,*) ixtype
if (ixtype.eq.0.or.ixtype.gt.1) then
write(68,170)
FORMAT(’ IXTYPE must be >0 <= 1.)
o to 150
end if

nsebin=nofebin(ixtype)

tnum=0.D0

do ie=1,nsebin
tnum=tnum+sspec(ixtype,ie)

end do

nsebin=nsebin+1

ecdft(1)=0.0

do ie=2,nsebin
ecdft(ie)=ecdft(ie-1)+sspec(ixtype,ie-1)/tnum

end do

do ie=1,nsebin
ebint(ie)=(ie-1)*deltae(ixtype)
end do

Define source position from phantom surface.
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write(68,180)
180  FORMAT(’ Key in source position from phantom surface in cm’)
read(5,*) sposi

iqin=0 ! Incident charge - photons
ekein=ebint(nsebin) ! Maximum kinetic energy

etot=ekein + abs(iqin)*RM

xin=0.D0

yin=0.DO0

zin=-sposi

uin=0.D0

vin=0.D0

win=1.D0

irin=0 ! Source region number is defined from xin and yin.

write(68,190)

190  FORMAT(’ Key in half width of beam at phantom surface in cm.’)
read(5,*) xhbeam
write(8,200)

200  FORMAT(’ Key in half height of beam at phantom surface in cm.’)
read(5,*) yhbeam
radma2=xhbeam*xhbeam+yhbeam*yhbeam
wimin=sposi/dsqrt(sposi*sposi+radma2)

write(6,210)
210  FORMAT(’ Key in mode. O:trajectory display, 1l:dose calculation’)
read(5,*) imode

| Define posible maximum total energy of electron before hatch
emaxe = ekein + RM ! photon

write(68,220)
220 format(/’ Start ucphantomcgv’/
* > Call hatch to get cross-section data’)

open(UNIT=KMPI,FILE=’"pgs5job.pegsbdat’,STATUS="01ld’)
open(UNIT=KMPO,FILE="egs5job.dummy’ ,STATUS=unknown’)

write(6,230)
230  FORMAT(/,’ HATCH-call comes next’,/)

close(UNIT=KMPI)
close(UNIT=KMPO)

! Print various data associated with each media (not region)

/I _-— -
write(1,240)

240  FORMAT(/,’ Quantities associated with each MEDIA:’)

do j=1,nmed
write(1,250) (media(i,j),i=1,24)
250 FORMAT(/,1X,2441)
write(1,260) rhom(j),rlcm(j)
260 FORMAT(5X,’ rho=’,G15.7,’ g/cu.cm rle=’,G15.7,’ cm’)
write(1,270) ae(j),ue(j)
270 FORMAT(5X,’ ae=’,G15.7,’ MeV  ue=’,G15.7,’ MeV’)
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280

290

300

310

*
*

write(1,280) ap(j),up(j)
FORMAT(SX,’ ap=’,G15.7,’ MeV  up=’,G15.7,’ MeV’,/)
end do

write(1,290)
FORMAT(/’ Information of medium and cut-off for each region’)
do i=1,nreg

if (med(i).eq.0) then

write(1,300) i

1FORMAT(’ Medium(region:’,I5,’)= Vacuum’)

else
write(1,310) i,(media(ii,med(i)),ii=1,24),

ecut(i),pcut(i),rhor(i)
FORMAT(’ Medium(region:’,I5,
)= ,24A1,/5X, ECUT=’,G10.5,’ MeV, PCUT=’,
G10.5, ’ MeV, density=’,F10.3)
end if
end do

write(39,320)

FORMAT(’MSTA’)

write(39,330) nreg

FORMAT(I4)

write(39,340) (med(i),i=1,nreg)
FORMAT(15I4)

write(39,350)

FORMAT (’MEND’ )

370

ncount = 0
ilines = 0
nwrite = 10
nlines = 25
idin = -1
totke = 0.
wtsum = O.

call ecnsv1i(0,nreg,totke)
call ntally(0,nreg)

do nnn=1,20
depe(nnn)=0.D0
depeh(nnn)=0.D0
depeh2(nnn)=0.D0
end do

faexp=0.D0
faexps=0.D0
faexp2s=0.D0
fexps=0.D0
fexpss=0.D0
fexps2s=0.D0

do i=1,201
saspec(1)=0.D0
end do

ibatch=0

write(6,360) nreg-4
format(’ Key in number of dose calculation region.(<=’,I5,’)’)
read(5,*) ndet

write(1,370)
FORMAT(//,’ Energy/Coordinates/Direction cosines/etc.’,/,
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* 6X,’e’,16X,°x’,14X,’y’,14X, 2’/
* 1X,’u’,14X,’v’, 14X, w’ 9%, *iq’ ,4X, ’ir’,3X, iarg’,/)

380 write(6,390)
390 FORMAT(’ Key in number of cases (0 means end of calculation.)’)

read(5,*) ncases
if (ncases.eq.0) go to 570

ibatch=ibatch+1

close(39,status="keep’)
open(39,file=’egsbjob.pic’,access=’append’)
write(39,400) ibatch

400 FORMAT(’0’,I5)

tt=etime(tarray)
ttO=tarray(1)

do j=1,ncases ! Start of CALL SHOWER loop

icases=]

410 call randomset (w0)
win=w0*(1.0-wimin)+wimin
call randomset(phaiO)
phai=pi*(2.0%phai0-1.0)
sinth=dsqrt(1.DO-win*win)
uin=dcos(phai)*sinth
vin=dsin(phai)*sinth
dis=sposi/win
xpf=dis*uin
ypf=dis*vin
if (dabs(xpf).gt.xhbeam.or.dabs(ypf).gt.yhbeam) go to 410
if (sposi.gt.5.0) then

disair=(sposi-5.0)/win
xin=disair*uin
yin=disair*vin

zin=-5.D0
else

xin=0.D0

yin=0.DO0

zin=-sposi
end if

if(irin.le.0.or.irin.gt.nreg) then
call srzone(xin,yin,zin,iqin+2,0,irinn)
call rstnxt(iqin+2,0,irinn)

else
irinn=irin

end if

0.d0 ! Initialize some energy-balance

eparte
0.40 ! tallying parameters (SJW)

epartd

call randomset(ei0)
do ie=2,nsebin
if (ei0.1t.ecdft(ie)) then
o to 420
end if
end do

Appendix 1-7



420

450

460

if (ie.gt.nsebin) then
ie=nsebin

end if

saspec(ie)=saspec(ie)+1.D0

if (ecdft(ie).eq.ecdft(ie-1)) then
ekin=ebint(ie-1)

else
ekin=ebint(ie-1)+(ei0-ecdft(ie—-1))*(ebint(ie)-ebint(ie-1))/

(ecdft(ie)-ecdft(ie-1))

end if

wtin = 1.0

wtsum = wtsum + wtin ! Keep running sum of weights
etot = ekin + iabs(iqin)*RM ! Incident total energy (MeV)
availke = etot + igin*RM ! Available K.E. (MeV) in system
totke = totke + availke ! Keep running sum of KE
latchi=0

if (ncount .le. nwrite .and. ilines .le. nlines) then
ilines = ilines + 1
write(6,430) etot,xin,yin,zin,uin,vin,win,iqin,irinn,idin
FORMAT(4G15.7/3G15.7,3I5)

end if

call shower (iqin,etot,xin,yin,zin,uin,vin,win,irinn,wtin)

Added for energy balance tests (SJW)
if (DABS(eparte + epartd - ekin)/ekin .gt. 1.d-10) then
write(*,440) icases, eparte, epartd
gQ?MAT(’EIror on # ’,I16,’ Escape = ’,F9.5,’ Deposit = ’,F9.5)
endi

do kdet=1,ndet
depeh(kdet)=depeh(kdet)+depe(kdet)
depeh2(kdet)=depeh2(kdet)+depe(kdet)*depe(kdet)
depe(kdet)=0.0

end do

faexps=faexps+faexp
faexp2s=faexp2s+faexp*faexp
faexp=0.0
fexpss=fexpss+fexps
fexps2s=fexps2s+fexps*fexps

fexps=0.0
ncount = ncount + 1 ! Count total number of actual cases
! _______________________
end do ! End of CALL SHOWER loop

tt=etime(tarray)
tti=tarray(1)
cputime=tt1-tt0

if (imode.ne.0) then

write(1,450) cputime
format(’ Elapsed Time (sec)=’,G15.5)

end if

write(1,460) ncount,ncases,totke,totke/ncount
FORMAT(/,’ Ncount=’,I10,’ (actual cases run)’,/,

> Ncases=’,I110,’ (number of cases requested)’,/,
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* >’ TotKE =’,G15.5,’ (total KE (MeV) in run)’/
* > Average Kinetic enegy =’,G15.5,’HeV’/)

if (totke .le. 0.D0O) then
write(6,470) totke,availke,ncount

470 FORMAT(//,’ Stopped in MAIN with TotKE=’,G15.5,/,
* ’ AvailKE=’,G15.5, /,’ Ncount=’,I10)
stop
end if

if (imode.ne.0) then
do ie=2,nsebin
saspec(ie)=saspec(ie)/float(ncases)

end do
write(1,480)
480 FORMAT(/’ Comparison between sampled spectrum and original data’
* /23X,° Sampled Probability’,25X,’ Sampled Probability’
* )

do ie=2,nsebin,?2
if(ie.eq.nsebin) then
write(1,490) ebint(ie),saspec(ie),ecdft(ie)-ecdft(ie-1)

490 1FORMAT(1X,G9.3,’ MeV(upper)-- ’,2G12.5)
else
write(1,500) ebint(ie),saspec(ie),ecdft(ie)-ecdft(ie-1),
* ebint(ie+l), saspec(ie+1),ecdft(iet+l)-ecdft(ie)
500 FORMAT(1X,G9.3,’ MeV(upper)-- ’,2G12.5,3X, ’; ’,G9.3,
* > MeV(upper)-- ’,2G12.5)
end if
end do

write(1,510) sposi

510 FORMAT(/’ Absorbed energy inside phantom for 100 kV X-ray’/
* > Source position ’,F10.1,’ cm from phantom surface’/
* > Within lcm x 1 cm area after 5 cm air’)

write(1,520) ncases, xhbeam, yhbeam

520 FORMAT(1X,I8,’ photons normally incident from front side’/ ’ Hal
*f width of beam is ’,G15.5,’cm for X and ’,G15.5,’cm for Y’)
end if

area=1.D0*1.D0O

do kdet=1,ndet
vol=area*1.D0
dose(kdet)=depeh(kdet)/ncases

dose2(kdet)=depeh2(kdet)/ncases
doseun(kdet)=dsqrt ((dose2(kdet)-dose(kdet)*dose(kdet))/ncases)
dose(kdet)=dose(kdet)*1.602E-10/vol
doseun(kdet)=doseun(kdet)*1.602E-10/vol
depths=kdet-1.0
depthl=kdet
write(6,530)depths,depthl, (media(ii,med(kdet+1)),1ii=1,24),
* rhor(kdet+1),dose(kdet) ,doseun(kdet)
530 FORMAT(’ At °,F4.1,’—-’.F4.1,’cm (’,24A1,’,rho:’,F8.4,7)=",
* G13.5,’+-’,G13.5, Gy/incident’)
write(1,530) depths,depthl, (media(ii,med(kdet+1)),ii=1,24),
* rhor(kdet+1),dose(kdet) ,doseun(kdet)
end do

faexpa=faexps/ncases

faexp2s=faexp2s/ncases

faexrr=dsqrt ((faexp2s-faexpa*faexpa)/ncases)
faexpa=faexpax1l.6E-10/area

faexrr=faexrr*1.6E-10/area
fexpsa=fexpss/ncases
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fexps2s=fexps2s/ncases
fexerr=dsqrt ((fexps2s-fexpsa*fexpsa)/ncases)
fexpsa=fexpsax1l.6E-10/area

fexerr=fexerr*1.6E-10/area
if (faexpa.gt.0.0) then

bsfa=fexpsa/faexpa
bsferr=bsfa*dsqrt((faexrr/faexpa)**2.+(fexerr/fexpsa)**2.)
write(6,540) faexpa,faexrr,fexpsa,fexerr,bsfa,bsferr
write(1,540) faexpa,faexrr,fexpsa,fexerr,bsfa,bsferr
540 FORMAT(/’ Exposure in free air (using mu_en) =’, G15.5,’+-’,G15.
* 5, Gy/incident’/ ’ Exposure at phantom surface (using mu_en) =’
* , G16.5,’+-’,G15.5,°Gy/incident’/ ’ Backscattering factor =’,G15
* .5,’+=’,G15.5)
else
write(6,550) faexpa,faexrr,fexpsa,fexerr
write(1,550) faexpa,faexrr,fexpsa,fexerr
550 FORMAT(/’ Exposure in free air (using mu_en) =’, G15.5,’+-’,G15.
* 5, Gy/incident’/ ’ Exposure at phantom surface (using mu_en) =’
* , G15.5,’+-’,G15.5, ’Gy/incident’)
end if

call plotxyz(99,0,0,0.D0,0.D0,0.D0,0.D0,0,0.D0)
write(39,560)
560 FORMAT(’9’)
close(UNIT=39,status='keep’)
go to 380

570 if (imode.ne.0) then
|

call ecnsvi(nlist,nreg,totke)

end if

call counters_out(1)

close(UNIT=1)
close(UNIT=4)

stop

end

| Version: 030831-1300

| Reference: SLAC-265 (p.19-20, Appendix 2)
gy M My S

123456789 | 123456789 | 123456789 | 123456789 | 123456789 | 123456789 | 123456789 12

! Required subroutine for use with the EGS5 Code System
|

A simple AUSGAB to:

2) Print out stack information

i
!

! 1) Score energy deposition

!

! 3) Print out particle transport information (if switch is turned omn)
I

subroutine ausgab(iarg)
implicit none
include ’include/egs5_h.f’ ! Main EGS "header'" file

include ’include/egs5_epcont.f’ ! COMMONs required by EGS5 code
include ’include/egs5_media.f’
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include ’include/egs5_misc.f’
include ’include/egsb5_stack.f’
include ’include/egs5_useful.f’

include ’auxcommons/aux_h.f’ ! Auxiliary-code '"header'" file

include ’auxcommons/etalyl.f’ ! Auxiliary-code COMMONs

include ’auxcommons/lines.f’
include ’auxcommons/ntalyl.f’

include ’auxcommons/watch.f’
include ’auxcommons/etaly2.f’ ! Added SJW for energy balance

common/totals/ ! Variables to score
* depe(20),faexp,fexps,imode,ndet

real*8 depe,faexp,fexps

integer imode,ndet

integer ! Arguments
* iarg
real*8 ! Local variables

* cmod,dcon,edepwt,encoea,esing
integer idet,ie,iql,irl
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! Keep track of how deep stack gets
/I -—— -

if (np.gt.MXSTACK) then
write(6,100) np,MXSTACK

100 FORMAT(//’ In AUSGAB, np=’,I3,’ >= maximum stack’,
* > allowed which is’,I3/1X,79(’*’)//)
stop
end if

irl = ir(ap)
iql = iq(np)
edepwt = edep#*wt(np)

if (iarg .lt. 5) then
esum(iql+2,irl,iarg+l) = esum(iql+2,irl,iarg+1l) + edeput

! added SJW for particle by particle energy balance
if(irl.eq.nreg) then
eparte = eparte + edepwt
else
epartd = epartd + edepwt
endif
end if

if (irl.ge.2.and.irl.le.nreg-3) then
idet=irl-1
if(idet.ge.1l.and.idet.le.ndet) then
depe(idet)=depe(idet)+edepwt/rhor(irl)
end if
end if

if (abs(irl-irold).eq.1l.and.iq(np).eq.0) then
if((w(np).gt.0.0.and.irl.eq.2).or.(w(np).le.0.0.and.irl.eq.1))
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* then
if (dabs(w(np)).ge.0.0349) then
cmod=dabs (w(np))
else
cmod=0.0175
end if
esing=e(np)
dcon=encoea(esing) ! PHOTX data
fexps=fexps+e(np)*dcon*wt (np)/cmod
if (w(np).1t.0.0) latch(np)=1
if (w(np).gt.0.0.and.latch(np).eq.0) then
faexp=faexp+e(np)*dcon*wt(np)/cmod
end if
end if
end if

if (imode.eq.0) then
call plotxyz(iarg,np,iq(np),x(np),y(np),z(np),e(np),ir(np),

* wt(np))
end if

return
end

P last line of ausgab.f--——————"—-—------------—
b howfar.f-------\w-"--———-——
Version: 050716-1300
Reference: T. Torii and T. Sugita, "Development of PRESTA-CG

i
!
! Incorporating Combinatorial Geometry in EGS4/PRESTA", JNC TN1410 2002-201,
! Japan Nuclear Cycle Development Institute (2002).

! Improved version is provided by T. Sugita. 7/27/2004

subroutine howfar
implicit none

include ’include/egs5_h.f’ ! Main EGS "header'" file
include ’include/egs5_epcont.f’ ! COMMONs required by EGS5 code
include ’include/egs5_stack.f’

include ’auxcommons/geom_common.f’ ! geom-common file

integer i,j,jjj,ir_np,nozone, jty,kno

inte§er irnear,irnext,irlold,irlfg,itvlfg,ihitcg

double precision xidd,yidd,zidd,x_np,y_np,z_np,u_np,v_np,w_np
double precision tval,tvalO,tval00,tvallO,tvalmn,delhow
double precision atvaltmp

integer iq_np

ir(np)
iq(np) + 2

ir_np
iq_np
if(ir_np.le.0) then

write(6,*) ’Stopped in howfar with ir(np) <=0’

stop
end if

if(ir_np.gt.izonin) then
write(6,*) ’Stopped in howfar with ir(np) > izonin’
stop

end if

if(ir_np.EQ.izonin) then
idisc=1
return

end if

tval=1.d4+30
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itvalm=0

c body check
u_np=u(np)
v_np=v(np)
w_np=w(np)
x_np=x(np)
y-np=y (np)
z_np=z(np)

do i=1,nbbody(ir_np)
nozone=ABS(nbzone(i,ir_np))
jty=itblty(nozone)
kno=itblno(nozone)
c rpp check
if(jty.eq.ityknd(1)) then
if(kno.le.0.or.kno.gt.irppin) go to 190
call rppcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
c sph check
elseif (jty.eq.ityknd(2)) then
if(kno.le.0.or.kno.gt.isphin) go to 190
call sphcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
c rcc check
elseif (jty.eq.ityknd(3)) then
if(kno.le.0.or.kno.gt.irccin) go to 190
call rcccgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
c trc check
elseif (jty.eq.ityknd(4)) then
if(kno.le.0.or.kno.gt.itrcin) go to 190
call trccgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
c tor check
elseif (jty.eq.ityknd(5)) then
if(kno.le.0.or.kno.gt.itorin) go to 190
call torcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)

c***x* add new geometry in here

end if
190 continue
end do

irnear=ir_np
if(itvalm.eq.0) then
tvalO=cgepsi
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
310 continue
if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) goto 320
tvalO=tval0*10.d0
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np

go to 310
320 continue
c write(*,*) ’srzone:1’
call srzone(xidd,yidd,zidd,iq _np,ir_np,irnext)
c
if (irnext.ne.ir_np) then
tval=0.0d0
irnear=irnext
else
tval00=0.0d0
tvall0=10.0d0*tvall
irlold=ir_np
irlfg=0
330 continue
if(irlfg.eq.1) go to 340
tval00=tvalO00+tvalill
if(tval00.gt.1.0d+06) then
write(6,9000) iq(np),ir(np),x(np),y(np),z(np),
& u(np),v(np),w(np),tvalo0
9000 format(’ TVALOO ERROR : iq,ir,x,y,z,u,v,w,tval=’,
& 213,1P7E12.5)
stop
end if

xidd=x_np+tvalO0*u_np
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340

410

420

425

430

440

yidd=y_np+tval00*v_np
zidd=z_np+tval00*w_np
call srzold(xidd,yidd,zidd,irlold,irlfg)
go to 330

continue

tval=tvalOo
do j=1,10
x1dd=x_np+tval00*u_np
yidd=y_np+tval00*v_np
zidd=z_np+tval00*w_np
write(*,*) ’srzone:2’
call srzone(xidd,yidd,zidd,iq_np,irlold,irnext)
if(irnext.ne.irlold) then
tval=tvalOo
irnear=irnext
end if
tval00=tval00-tvall
end do
if(ir_np.eq.irnear) then
write(0,#*) ’ir(np),tval=’,ir_np,tval
end if

end if
else
do j=1,itvalm-1

do i=j+1,itvalm
if(atval(i).lt.atval(j)) then
atvaltmp=atval(i)
atval(i)=atval(j)
atval(j)=atvaltmp

endif
enddo

enddo

itvlfg=0
tvalmn=tval

do jjj=1,itvalm

if(tvalmn.gt.atval(jjj)) then
tvalmn=atval(jjj)
end if
delhow=cgeps2
tvalO=atval(jjj)+delhow
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
continue
if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) go to 420
delhow=delhow#*10.d0
tvalO=atval(jjj)+delhow
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
go to 410
continue
write(*,*) ’srzone:3’
call srzone(xidd,yidd,zidd,iq_np,ir_np,irnext)
if((irnext.ne.ir_np.or.atval(jjj).ge.1.).and.
tval.gt.atval(jjj)) THEN
tval=atval(jjj)
irnear=irnext
itvlf§=1
oto 425
end if

end do
continue
if(itvlfg.eq.0) then

tvalO=cgmnst

xidd=x_np+tvalO*u_np

yidd=y_np+tvalO*v_np

zidd=z_np+tvalO*w_np

continue

if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) go to 440
tvalO=tval0#*10.40
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
go to 43

continue

if (tvalmn.gt.tvalO) then
tval=tvalmn
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else
tval=tvalO
end if
end if
end if
ihitcg=0
if(tval.le.ustep) then
ustep=tval
ihitcg=1
end if
if(ihitcg.eq.1) THEN
if (irnear.eq.0) THEN
write(6,9200) iq(np),ir(np),x(np),y(np),z(np),
& u(np),v(np),w(np),tval
9200 format(’ TVAL ERROR : iq,ir,x,y,z,u,v,w,tval=’,2I3,1P7E12.5)
idisc=1
itverr=itverr+1
if(itverr.ge.100) then
stop
end if
return
end if
irnew=irnear
if (irnew.ne.ir_np) then
call rstnxt(iq_np,ir_np,irnew)
endif
end if
return
end

| Version: 030831-1300
| Reference: SLAC-265 (p.19-20, Appendix 2)
gy M My S

123456789 | 123456789 | 123456789 | 123456789 | 123456789 | 123456789 | 123456789 12
]

! real function encoea(energy)

! Function to evaluate the energy absorption coefficient of air.

! (Tables and Graphs oh photon mass attenuation coefficients and

! energy-absorption coefficients for photon energies 1 keV to

! 20 MeV for elements Z=1 to 92 and some dosimetric materials,

! S. M. Seltzer and J. H. Hubbell 1995, Japanese Society of

]

Radiological Technology)
real function encoea(energy)

real hnu(38)/0.001,0.0015,0.002,0.003,0.0032029,0.0032029,

* 0.004,0.005,0.006,0.008,0.01,0.015,0.02,0.03,0.04,
0.05,0.06,0.08,0.10,0.15,0.2,0.3,0.4,0.5,0.6,0.8,1.0,
1.26,1.5,2.0,3.0,4.0,5.0,6.0,8.0,10.0,15.0,20.0/

* ¥

real enmu(38)/3599., 1188., 6526.2, 161.4, 133.0, 146.0,
76.36, 39.31, 22.70, 9.446, 4.742, 1.334, 0.5389,
0.1537,0.06833,0.04098,0.03041,0.02407,0.02325,0.02496,
0.02672,0.02872,0.02949,0.02966,0.02953,0.02882,0.02789,
0.02666,0.02547,0.02345,0.02057,0.01870,0.01740,0.01647,
0.01525,0.01450,0.01353,0.01311/;

* ¥ ¥ ¥ ¥

real#*8 energy,enml,hnul,ene0,slope;
integer 1

if (energy.gt.hnu(38)) then

encoea=enmu(38)
return
end if
if (energy.lt.hnu(1)) then

encoea=enmu(1)
return
end if

do i=1,38
if (energy.ge.hnu(i).and.energy.lt.hnu(i+1)) then
enml=alog(enmu(i+1))
enmO=alog(enmu(i))
hnui=alog(hnu(i+1))
hnuO=alog(hnu(i))

ene0=dlog(energy)
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slope=(enmi-enm0)/(hnul-hnu0)
encoea=exp (enm0+slope*(ene0-hnud))
return

end if

if (energy.eq.hnu(i+1)) then
encoea=enmu(i+1)
return

end if

end do

! If sort/interpolation cannot be made, indicate so by writing

! a comment and stopping here.
write(6,100) energy

100  FORMAT(///,’ **#x*STOPPED IN ENCOEA**x**%’ / > E=’,G15.5,///)
return
end

| Version: 030831-1300

| Reference: SLAC-265 (p.19-20, Appendix 2)
gy M My S

123456789 | 123456789 | 123456789 | 123456789 | 123456789 | 123456789 | 123456789 12
]

real function encoew(energy)
Function to evaluate the energy absorption coefficient of water.

!

!

! (Tables and Graphs oh photon mass attenuation coefficients and
! energy-absorption coefficients for photon energies 1 keV to

! 20 MeV for elements Z=1 to 92 and some dosimetric materials,

! S. M. Seltzer and J. H. Hubbell 1995, Japanese Society of

]

Radiological Technology)
real function encoew(energy)

real hnu(36)/0.001,0.0015,0.002,0.003,0.004,0.005,0.006,0.008,

* 0.01,0.015,0.02,0.03,0.04,0.05,0.06,0.08,0.10,0.15,
* 0.2,0.3,0.4,0.5,0.6,0.8,1.0,1.25,1.5,2.0,3.0,4.0,5.0,
* 6.0,8.0,10.0,15.0,20.0/

real enmu(36)/4065., 1372., 615.2, 191.7, 81.91, 41.88,
24.05, 9.915, 4.944, 1.374, 0.5503, 0.1857,
0.06947,0.04223,0.03190,0.02597,0.02546,0.02764,
0.02967,0.03192,0.03279,0.03299,0.03284,0.03206,
0.03103,0.02965,0.02833,0.02608,0.02281,0.02066,
0.01915,0.01806,0.01658,0.01566,0.01441,0.01382/

* ¥ ¥ ¥ ¥

real#*8 energy,enml,hnul,ene0,slope;
integer 1

if (energy.gt.hnu(36)) then
encoew=enmu(36)
return

end if

if (energy.lt.hnu(1)) then
encoew=enmu (1)
return

end if

do i=1,36
if (energy.ge.hnu(i).and.energy.lt.hnu(i+1)) then
enml=alog(enmu(i+1))
enmO=alog(enmu(i))
hnui=alog(hnu(i+1))
hnuO=alog(hnu(i))

ene0=dlog(energy)
slope=(enmi-enm0)/(hnul-hnu0)
encoew=exp (enm0+slope*(ene0-hnul))
return

end if

if (energy.eq.hnu(i+1)) then
encoew=enmu(i+1)
return

end if

end do

! If sort/interpolation cannot be made, indicate so by writing
! a comment and stopping here.
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write(6,100) energy

100 FORMAT(///,’> #***+*STOPPED IN ENCOEW*****’, / > E=’,G15.5,///)
return
end
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